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PREFACE

It gives me immense pleasure in presenting the Problem Solving
Assessment material to the students from class 1V to Xl| prepared by a team of
dedicated and hard working teachers from the Directorate of Education.

| hope the students will make full use of the study material. | also hope that
the teachers will motivate students to use study materials in preparation for
examinations. | would like to appreciate the efforts of the team of teachers who
were ably guided by Shri Amit Singla, Director(Education).

| wish students all the best.

(Anindo Majumdar)
Pr. SECRETARY (EDUCATION)
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PREFACE

| am elated to present the Problem Solving Assessment material to the
students and teachers of Government schools of Delhi. The purpose of this
project is to improve the analytical capabilities, logical reasoning and time
management sKkills of our students and enable them to get through various
entrance exams, while being objective and precise. This would enable them to
practice questions and gain confidence in competitive exams different from their
subjective tests held at school level.

| would like to commend the efforts of Dr. (Smt.) Sunita S. Kaushik,
Additional Director of Education ( School/Exam) who headed this project and her
team members whose sincere efforts made it possible to accomplish the project
intime.

My best wishes and blessings to all the teachers and students.

(Amit Sihgla)
Director (Edn.) & Chairman
(Delhi Bureau of Text Books)
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FOREWORD

| feel immense pleasure in writing the foreword to Problem Solving
Assessment material from class IV to Xll of the Government schools of
Directorate of Education, Delhi. In today’s world of competition, where
students have to face the challenges of getting through entrance exams,
problem solving attitude needs to be improved. Our experienced
teachers have tried their best to enhance logical reasoning capabilities,
objectivity and time management skills of the students.

| extend my thanks to all the concerned Head of Schools who made
their school available as the venue for holding the workshop for
preparation of the PSA material.

Further, | would like to thank all the experienced teachers, subject
experts and members of examination team headed by Ms. Savita Yadav,
ably assisted by Ms. Sharda Taneja and Dr. Satish Kumar for their
valuable support and devotion to this project.

Finally  would like to thank DBTB in getting the material printed and
supplied.

=

Dr. Sunita S. Kaushik
Addl. Director of Education
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SECTION ‘A’

LANGUAGE CONVENTIONS
ENGLISH

Read the passages carefully and select the most suitable option according to
the corresponding number in the passges -

PARA -1

1.

7.

Most of us have a Sweet tooth and a favourite form of confectionery
1s chocolate, whether this comes in the form of sweets, chocolate
bars or cakes.

The huge range of chocolate products on display in sweet shops and
super markets shows us how popular - chocolate is

Indeed some of'us are so fond of it that we become chocoholics.

Eating chocolate often makes us feel good. Even some health experts
do not deny this.

It is thought to have a biochemical effect on the part of the brain that
is concerned with pleasure.

If you are depressed some chocolate can be real tonic which cheers
you up instantly.

Unfortunatly, this effect is transitory and you soon feel down again.

DO AS DIRECTED :

1.

Which of these is closest in meaning to ‘ sweet tooth’ in line 1
a. greatliking for sweets b. softtooth
c. milkteeth d. tendertooth

Which of these options is closest in meaning to ‘confectionery’in line
2

a. crisp chocolate b. Patties
c. Collectionofcandies & pastries  d. pastries

Which ofthese option is closest in meaning to phrase ‘fond of” in line
3

a. fondling something b. found
c. strong liking or inclination d. dislike
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10.

1.

Which of these options is closest in meaning to ‘display’in line 2
a. hide b. coner
c. putup for a show or presentation d. entertain

which of these options is closest in meaning to ‘chocoholics’in line 3

a. Addiction oftoffee b. Addition of coffee

c. Addition ofalcohol d. Addiction of chocolate
Which of'these options is opposite to the word ‘deny’ in line 4

a. disapprove b. refuse

c. Accept d. approbe

Which of these options is closest in meaning to ‘pleasure’ in line 5
a. sadness b. happiness

c. tenacity d. amused

Which of these options is closest in meaning to the word ‘transitory’
inline 7

a. momentary b. mowing

c. permanent d. happening

which of these options is closest in meaning to the word ‘instantly’in
line 6

a. promptly/immediately b. suddenly

b. Happily d. curiously

Which of these options is closest in meaning to ‘feel down’ in line 7
a. sad b. happy

c. falldown d. annoyed

Pick the correct word for ‘unfortunatly’in line 7
a. unfortunetly b. unfortunatily
c. unfortunatly d. unfortunately
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10.

11.

PARA-I
ANSWER KEY

great liking for sweets

collection of candies and pastries
strong liking or inclination
Putup for a show or presentation
Addiction of chocolates

Accept

Happiness

momentary

promptly /immediately

sad

Unfortunately
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PARA- 11

The growing rate of crime among the youth is a matter of great
concern

It ranges from kidnapping, extortion and even murder.

The once sensitive, caring, loving and compassionate, young men
immortalized by Ruskin Bond and R.K. Narayan is today a character
confined to books alone.

The new world has turned him into a criminal with no moral sense or
ethical responsiblity. The young are selfish in their thoughts, actions
and existence.

They are like parasites, thriving on extravagant consumption of
illegal material.

There can be various reasons as to why the youth are going wrong.
Increasing competition leads to stress and ruthlessness.

The rush to succeed makes them astray. Nuclear families have made
youth selfish and intolerant.

Media glorifies the crime and criminals are posed in a heroic light.
All these are responsible for worsoning the situation.

Which of'these options is closest in meaning to ‘Extortion’in line 2
a. Elicit b. decrease

c. tired d. obtaining something by force
Which ofthese options can replace the word ‘Compassionate’ in line
3

a. cruel b. kind

c. hopeless d. full of passion

Which of these options is closest in meaning to ‘confined’in line 3
a. duped b. restricted
c. conscious d. conscience
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10.

Which of these options is closest in meaning to ‘Immortalised’ in
line3

a. living forever b. Immovable
c. Important d. Improvised

Which ofthese options can replace the word ‘moral sense and ethical
responsibility’inline 4

a. sensitive b. Impartial

c. valuesystem d. judgemental

Which of these options is closest in meaning to ‘extravagant’in line 5

a. Vagarant b. unreasonably wasteful
indulgence
c. wandering c. boisterously

Which ofthese options is closest in meaning to ‘astray’ in line 7
a. moveslow b. move fast
c. todeviate fromtherightpath c. traytokeep ashes

Which of these options is the opposite of ‘glorifies’in line 7

a. Lighten b. Castigate

c. amplify d. pacify

Which of these options replace wrongly spelt word” worsoning’ in
line 8

a. worsening b. worrsening

C. worsonying d. warsaning

Which of'these options is closest in meaning to word ‘Posed’ in line 8
a. put b. positioned
c. shown d. taken
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PARA-II
ANSWER KEY

obtaining something by force
kind

restricted

living forever

value system

unreasonably wasteful indulgence
to deviate from the right path
castigate

worsening

shown
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PARA- 11T

India is a great nation with a rich heritage and a wealth of knowledge
radiating to the whole.

The world during the last thousand years or so with multiple
invasions eroded its culture. scientific talent and civilisation.

Great leadership saw India’s independence and evalved a road map
for growth.

with huge natural resource, biodiversity and human resources.

India is yet to recapture the glory of'its past.

Which ofthese options is closest in meaning to ‘invasion’in line 2
a. attacks b. successions
c. inclusions d. rulings

which of these options is closest in meaning to ‘rich heritage’ in line
1

a. richpeople b. greatcultural legacy

c. greatlegacy d. healthy business

Which of these options is closest in meaning to ‘eroded’ in line 2

a. supported b. propelled

c. disintegrated d. backed

Which of'these options is closest in meaning to ‘road map’in line 3
a. longroads maps b. highways

c. way forplan ofaction d. cross-roads

Which of these options is closest in meaning to ‘recapture’in line 5

a. decaptivate b. resuscitate

c. decapacitate d. redeem

Which of these options is opposite of word ’glory’ in line 5
a. disgrace b. grace

c. crown d. throne

49 PSA CLASS XI



® =N kWD

Which of'these options is closest in meaning to ‘radiating’ in line 1
a. happy and enthusiastic b. elating
c. shining with glory andreflecting  d. spreading radiation

Which of these is the correct word for ‘evalved’ in line

a. Avalve b. evolved
c. Avelve c. evalved
PARA-III
ANSWER KEY
a. attacks

b. great cultural legacy

c. disintegrated

c. way for plan of action

d. redeem

a. disgrace

c. shining with glory and reflecting
b. evolve
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PARA- 1V

Read the passage carefully and select the most suitable options to
fit the corresponding gap.

Flowers are not only beautiful and fragrant, they are often also
edible. Indians have always relished eating flowers and (1)

ofthe delicacies of Bengali cuisine in fritters, made of
pumpkin flowers. (2) flower widely eaten in the
north-east is the banana flower which is made into a number of
dishes.

Today eating flowers is catching on in a big way. Apart from the
cauliflower and broccoli, there are (3) other edible
flowers too. In (4) western countries crystallised
flowers are used as decoration for cakes and puddings. Lavender
flower have (5) uses. They are used for making
lavender water as well as in custards and ice-creams. (6)
herbs like rosemary, thyme and basil are used for
garnishing and flavours.

Which option fits the gap 4

a. some b. various
c. few d. hundred percent
which option fits the gap 5

a. Very b. few

c. afew d. many
which option fts the gap 3

a. few b. some
c. afew d. any
which option fits the gap 2

a. Another b. next.

c. other d. second
which of'these fits the gap 6

a. few b. many
C. manya d. afew
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6. which of these fits the gap 1

a. many b. few
c. One d. very
PARA-IV
ANSWER KEY

1 a. Some

2. d. many

3. b. some

4. a another

5. b. many

6. c. one
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PARA V

The author was (1) about taking photographs and (2)
them. But she always (3) whether her sons
would ever look at them. She was full of (4) when she (5)

camera.

Which of these fits the gap 6
a. learn
c. learnt

Which of'these fits the gap 1
a. obsess
c. oboession

Which of'these fits gap 2
a. frame
c. frames

Which of these fits gap 5
a. Paste
c. pastes

Which of'these fits gap 4
a. emotionally
c. emotions

Which of these fits gap 3
a. wonder
c. wonders

53

the picture of her father’s last days in the album. She (6)
that some pictures always remain in one’s mind without a

b. learning
d. learns

b. obsessed
d. obsession

b. framing
d. framed

b. pasted
d. pasting

b. emote
d. emotional

b. wondering
d. wondered
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PARA-V
ANSWER KEY

Learnt
obsessed
framing
Pasted
emotions

wondered
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PARA - VI

There, once lived an evil and arrogant king whose ambition (1)
to conquer all the countries of (2)
world. He (3) every person to fear (4)
. He attacked the whole world with sword and fire.
The apple trees in the garden (5) . The mothers
weptand (6) to their babies.

which options fits in gapno 1

a. hasbeen . was

c. 1S . wouldbe
which option fits in gap no. 2

a. the . a

C. an . all

which option fits best in the gap 4

a. my . which

c. him . himself
which option fits best in gap 3

a. wants . will want
c. wanted . shall want
which option fits in gap 6

a. clangon . clinged on
c. clungon . clunged on
which option suits best to gap 5

a. burnt . was burnt
c. wasburning . were burnt
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PARA-VI
ANSWER KEY

was
the

him
wanted
clungon

were burnt
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PARA-VII

We should ask students (1) outdoor games.
Outdoor games involve physical exercise. When children play such
games, they provide exrcise to the body, Children should be asked
(2) regular as it is through (3)
regularly, that they can achieve a balanced growth. Playing and (4)
should go hand in hand. After all (5)
we need physical fitness and to gain physical fitness we need to play
regularly.

Which is the best option for gap no.1

a. toplay b. playing
c. plays d. played
Which is the best option for gap no. 2

a. todo b. tobe

c. tothe d. toneed
Which option fits gap 5

a. tostudy b. studies
c. studying d. study
Which option fits gap 4

a. study b. studies
c. studied d. studying
Which option is fits gap 3

a. plays b. played
c. playing d. play
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PARA-VII
ANSWER KEY

toplay
tobe

to study
studying
playing
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PARA-VIII

complete the passage by selecting the most suitable options

A mother who (1) her only son (2) to
Gautam Budha. She (3) to Gautam Budha to bring
the child back to life. He (4) her that he could revive

the child if she would bring him some mustard seeds. But he (5)
that the seeds had to come from a home where death
(6)

which option fits the gap 4

a. havetold b. telling

c. hastold d. told
which option fits the gap 5

a. added b. wasadded
c. adding d. willadd
Which option fits the gap 2

a. would come b. came

c. coming d. have come

which option fits in the gap 1

a. lost b. haslost

b. havelost d. losing

which option fits in the gap 6

a. notvisited b. hadnever visited
b. notvisiting d. hasnotvisited

which option fits in the gap 3
a. Implored b. imploring
c. have implored d. Could implore
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PARA-VIII
ANSWER KEY

told

added

came

lost

had never visited

implored
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PARA -IX

Walking to his school (1)
great slabs.(2)
windows. and he (3)

morning Charlie could see

chocolate piled up high in the shop
stop and stare and press his nose

against the glass, his (4) watering like mad.
Which of these fit the gap 3
a. should b.hadto
c. would d.need
Which of'these fits the gap 2
a. of b. by
c. to d. from
Which of these fit the gap 4
a. nose b. eyes
c. ear d. mouth
Which of these fit the gap 1
a. ofthe b. inthe
b. atthe d. bythe
PARA-IX
ANSWER KEY
1. c. would
2 a of
3. d. mouth
4 b. inthe
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EXERCISE -1

Spot the error (Indicate the part in which the error is. Use ‘no
error’ in case there is no error in the Sentence.)

When [ went to her home she introduced me with her mother.
a. noerror b. whenIwent
c. toherhome d. with her mother

The teacher was pleased at Rekha
a. noerror b. the teacher
c. was d. pleasedat

On entering the shop, the box was found broken and money stolen
a. onentering b. thebox was

c. money stolen d. noerror

Perhaps you know that I lived at Bombay for two weeks.
a. Perhaps b. lived at Bombay
c. fortwoweeks d. noerror

My brother finished his work before we reached his place with great
difficulty, because of heavy traffic.

a. before wereached b. finished
c. with great d. noerror

Not hardly a sound could be heard in the auditorium when the
speaker approached the dias to announce the result of the contest.

a. noerror b. nothardly
c. when d. approached

Though the management has recently recruited some workers and
started a training programme for them, the factory still suffers from
want of skilled labour.
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a. has recently b. started
c. fromwantof d. noerror

Raman developed the habit for sleeping late when he was staying in
the hostel.

a. noerror b. developed the habit
c. forsleeping d. wasstaying

John having took his seat at the head of the table, announced dinner.
a. noerror b. atthehead
c. havingtook d. announced dinner

One of them forget to take their bag from the school.
a. Oneofthem b. forgettotake
c. taketheirbag d. noerror

Exercise - 1
Solutions

(d)  place ‘to’ before her mother

(d)  place ‘with’ after pleased

(c)  place ‘the’ before money stolen
(b)  place ‘in’ before Bombay

(b)  place ‘had’before finished

(b)  remove ‘not’ before hardly

(d) noerror

(c)  place ‘of”before sleeping

(c)  place ‘taken’ after having

(b)  place ‘forgot’ before to take
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EXERCISE - 2

Choose the Correct Preposition out of the two given in the
brackets.

She died cancer. ( from, of)
What is the time your watch? (in, by)
I saw a hawk flying the hill. (over, above)
Letus hear the Songs Lata. ( of, by)
The frog jumped the pond. (into, in)
He sat his parents. ( between, among)

The teacher asked Sonu to distribute the sweets
the children. (among, between)

He lives Russia. (in, at)
The river flows the bridge. ( below, under)
We are ready the battle. ( for, with)

Exercise - 2

Solutions
of 6. between
by 7. among
over 8. in
of 9. under
into 10.  for
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EXERCISE -3

Fill up the blanks in the following sentences by using the
correct tense form of the verbs given in the brackets by
choosing the appropriate alternative from the ones given
below.

We (go) to Guwahati by Rajdhani Express.
a. Were going b. went
c. hadbeen going d. Express
Rajdhani train (be)a fully air conditione train.
a. was b. is
c. hadbeen d. hasbeen
He (be) in the church of Patna for the past twenty
years.
a. hasbeen b. has
c. have d. hadbeen
When the mosquito (bite) a person, the microbes
enter the blood stream.
a. bitten b. was bitten
c. bites d. hadbitten
ill for four days.
a. am b. hadbeen
c. was d. havebeen
The murderer was :
a. hang b. hanged
c. hung d. hanging
Each of the boys clever.
a. is b. are
c. am d. has
A poet and patriot passed away.
a. has b. have
c. is d. are
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The jury divided in their opinion.
a. has b. have
c. was d. were

The branches of this company

all over the

world.
a. islocated b. waslocated
c. arelocated d. arelocating
Exercise - 3

Solutions
(b)  went
(b) is
(a)  hasbeen
(c) bites
(d)  havebeen
(b)  hanged
(a) is
(a)  has
(d)  were
(c) arelocated
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EXERCISE - 4

Read the following dialogue and then complete the report
by choosing the correct option from the ones given below

Teacher : Why did you not come to school yesterday?
Kunal : I was suffering from fever

Teacher : Did you see a doctor?

Kunal : Yes, I did

The teacher asked Kunal (a) to school the previous
day. Kunal told the teacher that (b) from fever. The
teacher asked him (c) Kunal replied in the
affirmative.

(a) () whyyoudidnot come
(IT) ~ why he did notcome
(III)  why he hadnot come
(IV) whyhadhenotcome

by @D am suffering
(IT)  hesuffered
(III)  hehad suffered
(IV) hehadbeen suffering

c (O thatifhe had seen a doctor
(I)  ifhe saw a Doctor
(IIT)  ifhe did see a doctor
(IV) ifhehadseenaDoctor
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Sanju: I’ve lost my lucky bat with which I made all my runs.
Tomorrow we are playing at Delhi School.

Father : If confident, you can still make all the runs.

Sanju told his father that (a) with which he had
made all the runs. He was all the more upset because (b)

His father assured him that (c¢)

@ (@
(D)
(IIT)
(Iv)

(b @
(1)
(IIT)
(Iv)

© @
(1)
(I1T)
(Iv)

he had lost his lucky bat.
he has post his lucky bat
he lost his bat

he lost his lucky bat

next day they were playing at Delhi School
next day they had to play at Delhi School
next day they were to play at Delhi School
next day they will be playing at Delhi School

if confident, he can still make all the runs
if confident he could still make all the runs.
with confidence he could still make all the runs

be confident, he could still make all the runs
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Chander : Why did you sell your new house?
Manish : It was a haunted house
Chander : Do you believe in ghosts

Manish : No, but the ghosts believe in human beings.

Chander asked Manish (a) new
house Manish replied (b) haunted house. Chander
further asked (c) in ghosts. Manish replied

that he did not, but the ghosts believe in human beings.
(a) (I)  whydidyousellyour-.............

(I)  whydidhesellhis...............

(III) whyhehadsoldhis................

(IV) whyhesoldhis..................
b))y @D ifitwasa

(IT)  thatitisa

(III)  thatitwasa

(IV) thatithadbeena

c (@ that he believed
(I)  ifhebelieves
(III)  ifhe had believed
(IV) ifhebelieved

Ravi: The word will end tomorrow.

Shankar : Who told you?

Ravi :Iheard my father say so.
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Ravi said that (a) shankar asked him (b)
Then Ravi replied that (¢)

(a) (I)  theworld would end the next day
(I)  theworld will end the next day
(III)  the world may end the next day
(IV) theworld can end the next day

(b) (I)  whotoldhim this?
(I) ~ whohad told him that?
(IT)  who was telling him that?
(IV) who said that

(¢c) ()  heheardhis father say so
(IT)  hehad heard his father say so
(IIT)  his father said so
(IV) hehad heard his father said so
Lawyer : How did you kill the dog?
Criminal : Sir, I did not kill him
Lawyer : How did itdie?
Criminal : I told him about his master and he died of heart attack

The Lawyer asked the criminal how (a) . The
criminal replied that (b) . The lawyer further asked
(c) . The criminal told the lawyer that the dog
died of heart attack when informed about his master.
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@ (@D
(IT)
(111
(IV)

(b)y @
(1D
(I1T)
(V)

© @D
(IT)
(IIT)
(V)

he kills the dog

he killed the dog

he had killed the dog
had he killed the dog

he did notkill him

he had not killed him
he has notkilled him
he does notkill him

how itdies
how it died
how ithas died
how ithad died

Teacher : Geeta, Why are you late today?

Geeta : Sir, Imissed my bus.

Teacher : Take care in future.

The teacher asked Geeta (a) Geeta replied
respectfully (b) The teacher advised (c¢)
(a) (I)  why sheislate that day

(IT) ~ why she was late that day

(III)  why she would be late that day
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(IV)  why she will be late that day
(b) ()  thatshemissedherbus

(I)  that she has missed her bus

(ITT)  that she had missed her bus

(IV) thatshe canmiss her bus

) (O to took care in future
(IT)  herbybeing careful in future
(III)  her by taking care in future

(IV) hertotake care in future

Ravi : Will you marry me?
Suman : Are youan NRI.
Ravi:Yes,Iam.

Suman : Give me your bio-data

Ravi asked Suman (a) Suman enquired (b)
Ravi answered in the affirmative Suman told Ravi (c)

(a) (I)  would she marry him
(II)  if'she would marry him
(III)  will she marry him
(IV) ifshe would marry me
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by (@ was he an NRI
(II)  if he werean NRI
(III)  if he wasan NRI
(IV) if youwerean NRI

c (@ to give her his bio data
(IT)  togave herhisbio data
(III)  to give me your bio data
(IV) togiveme his bio data

Teacher : Why are you crying Renu?
Renu : Madam Preeti has broken my doll
Teacher : I’ll arrange a new doll for you

The teacher asked Renu (a) Renu replied (b)
The teacher promised (c)

(a) () whyshe was crying
(II)  whysheiscrying
(IT) ~ why she cried
(IV)  why she had cried

(b)y (O that Preeti has broken her doll
(IT)  thatPreeti had broken her doll
(IIT)  thatPreeti had been broken her doll
(IV) thatPreeti broke herdoll
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c @ that she will arrange a new doll for her
(IT)  that she can arrange a new doll for her
(ITI)  that she would arrange a new doll for her

(IV) thatshe had arranged a new doll for her

Sushil : The coat (a) is very beautiful. where did
you buy it from?

Rohit: I boughtitat Shimla (b)

Sushil : Ram was saying (c)

Rohit : Yes, that’s true

(a) (I) ~ whichhadblue stripes on it
(IT) ~ which hasblue stripes on it
(III)  which have blue stripes on it

(IV) whichishaving blue stripes on it

by (@ When we had gone there in vacation
(I) ~ When we have gone there in vacation
(II)  When we had gone there on vacation

(IV)  When we went there in vacation

c© (@ that you had went there every year
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(IT)  thatyouhadbeen going there every year
(III)  thatyou go there every year
(IV) thatyouhave been going there every year

Her younger brother was not looking normal. She remembered (a)

in  her lower classes. She had learnt (b)
for normal growth She therefore contacted a

dietician (c)

(a)

(b)

(c)

() Whatshe had learnt
(I) ~ Whatshe learnt
(III)  What she learned

D that balance diet is required
(I1)  thatbalanced diet is required

(III)  thatabalanced diet was required
(I)  who guided her about a balanced diet

(I) ~ whohad guided her about balanced diet
(ITII)  who guide her about balanced diet
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(a)
(b)
(c)

(a)
(b)
(c)

(a)
(b)
(c)

(a)
(b)

(i)
(iv)
(iv)

(1)
(1)
(iii)

(iii)
(iii)
(iv)

(i)
(ii)

(iii)
(i1)
(iv)

(i1)
(iii)

Exercise - 4
Solutions

why he did not come
he had been suffering

ifhe had seen a doctor

he had lost his lucky bat
next day they were playing at Delhi School

with confidence he could still make all the runs

why he had sold his
thatitwasa

ifhe believed

the world would end the next day
who had told him that ?
he had heard his father say so

he had killed the dog
he had notkilled him

how it had died

why she was late that day
that she had missed her bus

76 PSA CLASS XI



10.

(c)
(a)
(b)
(c)

(a)
(b)
(c)

(b)
(c)

(a)
(b)
(c)

(iv)
(if)
(iii)
(i)

(1)
(i1)
(iii)

(i1)
(iii)
(iii)

(1)
(iii)
(1)

her to take care in future
if she would marry him
ifhe was an NRI

to give her his bio-data

why she was crying
Preeti had broken her doll

that she would arrange a new doll for her

which has blue stripes on it
when we had gone there on vacation

that you go there every year
what she had learnt

that a balanced diet was required

who guided her about a balanced diet
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EXERCISE -5

CHOOSE THE CORRECT OPTION :- (Active Voice)

l.

I'have to help him

(a) Hehastobehelped by me

(b)  Hewill be helped by me

(c)  Hewashelped by me

(d)  Hehasbeenhelped by me

Why do you not complete your work?

(a)  Why was your work not completed by you?
(b)  Whyis your work not completed by you?
(c)  Why will your work not completed by you?
(d)  Whyisyour work not be completed by you?
Buy some fruits for the guests

(a)  Some fruits should be bought for the guests.
(b)  Iwill buy some fruits for the guests

(c)  Cansome fruits be bought for the guests

(d)  Some fruits may be bought for the guests.
Mr. Sharma scolded the boys who were making noise

(a)  The boys who are making noise were scolded by Mr.
Sharma

(b)  The boys were scolded by the teacher who was
making noise

(c)  The boys who were making noise were scolded by the
teacher

(d)  The boys were scolded who are making noise by the
teacher
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Mrs. Nisha has taught our class

(a)  Ourclass was taught by Mrs. Nisha

(b)  Ourclass had been taught by Mrs. Nisha

(c)  Mrs. Nisha has been teaching our class

(d)  Ourclass hasbeen taught by Mrs. Nisha
Ruksar is painting a beautiful picture.

(a)  Abeautiful picture is painted by Ruksar

(b)  Abeautiful picture has been painted by Ruksar
(c)  Abeautiful picture is being painted by Ruksar
(d)  Abeautiful picture is been painted by Ruksar
The vase has been broken by her

(a)  Shebroke the vase

(b)  Shehasbroken the vase

(c)  Sheis brakingthe vase

(d)  Shehad broken the vase

Are the clothes being ironed by her?

(a)  Will sheiron the clothes?

(b)  Does sheiron the clothes?

(c)  Issheironingthe clothes?

(d)  Wassheironing the clothes?

Let the windows be opened

(a)  Openthe windows
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(b)
(c)
(d)

Windows are opened
Windows has been opened

Who will open the windows/

A week is made of seven days

(a)
(b)
(c)
(d)

(a)
(b)
(a)

(d)
(©)
(b)
(c)
(a)
(d)

There are seven days in a week.
seven days makes a week.
A week has seven days.

Seven days make a week.

Exercise - 5
Solutions

He has to be helped by me
Why is your work not completed by you?
Some fruits should be bought for the guests.

The boys who were making noise were scolded by the
teacher

Our class has been taught by Mrs. Nisha

A beautiful picture is being painted by Ruksar
She has broken the vase

Is she ironing the clothes?

Open the windows

Seven days make a week.
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EXERCISE - 6

Choose the correct option to complete these passive voice sentences

Yourjacket........... ......... over there.

(a) can be hangup (b) can be hanged up

(c) can be hunged up (d) canbe hungup

He oo

(a) have never been heard of (b) hasnever been hearing of
(c)had ever been heard of (d) has never been heard of
Thekeys....cccoovvveueenneen. Jeeerene

(a) must have been left behind (b) must been left behind
(c)must having been leftbehind (d) must have be left behind

The criminal .............

(a) were locked up (b) were lock up

(c) were locking up (d) was locked up
Thelamp .....ccoovvveeviiieeien, by the wind

(a) was being blown out (b) was blown out

(c) was blow out (d) was blowed out

My bankloan........ ....... in three years time.

(a) will paid off (b) will be paying off

(c) will be paid off (d) will be being paid off

......................................... toyouyet.
(a)  Hasthebookbeen given back
(b)  Hasthebook being given back
(c)  Hasthebook been gave back
(d)  Hasthe book being gave back

Theroad......cccoeovvveevninennnne.

(a) was blocking off (b) was block off
(c) was blocking of (d) was blocked off
She ...oveeieeieeiee, with a reprimand.

(a) was let off (b) was letted off
(c) was letting off (d) were lett of
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(a) can be hald against
(c) Can be hold against
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(d)
(d)
(a)
(d)
(b)
(c)
(a)
(d)
(a)
(b)

Exercise - 6
Solutions
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(b) Can be held against
(d) Can be holding against
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EXERCISE -7

Choose the appropriate modal to fill in the blanks
...................... you, please, stop talking ? (would/can/Will)

You..ooooove v not hurry, there is plenty of time (must/can/nc ed)
YOU oo, go now (can/may/ should)
What cannot be cured, ............cocooiiiiiil. be endured
(should/will/must)

YOUu ooiiiiiiiii, have given me a helping hand
(ought/should/must)
The doctor said that the patient .................. recover (may/will/might )

(Hint : The doctor was not very sure about it)

The student politely said to the principal “...........ccccooviviiiiiiniincnnen.

............................................... I haveaword”
with you ?” (Can/ May/Might).
I’mafraid I .....c..ooovveennnennnn. tell you that, it is a secret (must not/
cannot/will not).
| like you to answer my questions properly (should/
would/will).
Hehaslostyourpenandhe................ nottell you (will/dare / can)
Exercise - 7
Solutions

1. will 6. might

2. need 7. may

3. may 8. cannot

4. must 0. would

5. should 10.  dare
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EXERCISE - 8

Choose the most appropriate modal from the brackets to complete the
following passage :-

Working women (a) (can / shall / will / would ) be
divided into four categories. Some (b) (will /would /
could/ may) work while waiting for matrimony. It is natural to expect
that in such cases the family ( ¢) (could / would/ need /
shall) take precedence over the job. They prefer joint families because
in that case they (d) (won’t / couldn’t /needn’t / mustn’t)
worry about their evenings with the family. However in a joint family
very often they (f) (needn’t/shouldn’t/daren’t/ might) go
against the wishes of the elders.

Choose the most appropriate option from the ones given below to
complete the following passage :-

Children (a)

read at least one book every month. By

doing this a lifelong habit of reading (b) be formed.
This habit ( ¢ ) go a long way in developing their
knowledge base. The knowledge acquired thus (d) help
them live their lives in a better way. They (e) to take
their own decisions in life and (f) not depend upon others
to help them.

(I) should (i1) can (ii1) will (iv) must

(I) might (i1) should (111) will (iv) could

(I) might (11) may (111) would (iv) can

(I) may (11) will (111) can (iv) could

(I) could (i1) can (ii1) will (iv) need

(I) must (i1) should (ii1) ought (iv) need
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(a)
(b)
(©)
(d)
(e)
0]

(a)
(b)

(d)
(e)
®

Exercise - 8 (Modals)
Solutions

Can
may
shall
needn’t
may

daren’t

(iv) must
(i)  will
(iv) can
(ii1)) can
(iv) need

(i)  must
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EXERCISE -9

Fill in the blanks with appropriate articles ( ‘a’/ ‘an’/ ‘the’) whereever required.

Fill in the blanks with appropriate articles (‘a’/ ‘an’/ ‘the”)

1. I have black and white dog.

2. Gangais sacred river

3. secretary and treasurer are absent today.

4. apple a day, keeps doctoraway

5. Our aim s to build strong India

6. SriLankais 1sland

7. The Children found egg in the nest.

8. He looks as stupid as owl.

0. Lionis king of beasts

10.  Whichis longestriver in India ?

I1.  Meena went tO ....ccceeevvvennnee. sports complex to meet ........
....... children

[2.  Rituhadalready goneto .........ccccceeevrennenee. play.

13. Cholerais......ccoceeevevveeennnnenns water borne................... disease.

14, Thke..cooooomiiiiiiiienee. red colour.

IS. My motherhadnevertouched...............c.......... onion.

[6.  Mr. Kapoor organised .............. ........ nice lunch in honour of .........
chairman.

[7.  Ouraimshouldbetobuild.........c..cccoeerirennnin. strong India.

18, e, apple aday, keeps ......cccceevveenenn. doctor away. _

19, Luncheon party was organized to welcome
............... guests

200 bird in hand is worthtwo in ............ bush.
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Exercise - 9 (Articles)
Solutions

a,a
the, a
the, the
an, the
a

an

an

an

the, the
the
the, the
X

a, X
the

an

a, the

an, the
a, the
a, the
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EXERCISE - 10

Fill in the appropriate connectors from those given in the brackets.

The boy will fail ................... he does not study.
(a) because (b)if

(c) until (d) though
Ramwaslate......... ........ itwas raining heavily.
(a) While (b) alter
(c)so (d) because

....................... you have any questions, please ask me.

(a) Incase (b) until

(c)unless (d) because

She is more dedicated........ ......... her sister.

(a)as (b) than

(c) before (d) because

We want our feelings to be respected; .............. ...... , We should
respect the feelings of others.

(a) nevertheless (b) similarly

(c) on the other hand (d) because
We lostthe house keys, ...... .......... we had to break the lock.
(a)still (b) for

(c) therefore (d) since

My uncle leftforthe U.S.A. ... [ was ababy.
(a) when (b) since

(c) While (d) for
....................... much I tried, I could not help him.

(a) though (b) however

(c) as (d) still

I ate my breakfast....... ......... h e was having his bath.

(a)  when (b) as

(c)  since (d) while
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(a)
(c)

—

A A A T T

p—
e

Aslongas

Since

(b)
(d)
(a)
(b)
(b)
(c)
(a)
(b)
(d)
(d)

Exercise - 10
Solutions
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(b)
(d)

I entered the class, the students stood up.

While

Assoon as
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11.

EXERCISE - 11

Choose the most appropriate sentence connectors or linkers from
the brackets to complete the following passage :

(a) (Since / When / While / Which) a man and
his daughter were driving, they met bandits (b)
(since /when/who/as) had guns (c) (As/When/who/
which) the daughter was quick. witted, she put the valuables into her
mouth. So the bandits found nothing worth while (d)
(as / when / but / since) they took away the car.
The man said (e) “(when / that / while / if ) your
mother had been here, we could have, perhaps saved the car too”

One day (a) (when / since / while / which) on an
airoplane airplane, I was seated beside an old woman (b)
(when /while / who / then) kept on telling me about
her grand children. (c) (Now / then / which) she
took out an album (d) (which, when) contained their
photographs. It was sometime (e) (now / then
/which / when). She realised that she had been doing all the
conversation. She said, “I am sorry (f) (now / that /
since/ when). I have been doing all the talking

Exercise - 11

Solutions
1. (a)  when 2. (a)  while
(b) who (b) who
(c) As (c) then
(d) but (d)  which
(e) if (e)  when

(f)  that
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12.

EXERCISE - 12
SYNONYMS

Read the sentences given below and substitute the underlined word
(s) with the appropriate option :

My father is not arrogant. He talks to everyone softly.

(a)  kindhearted (b)  abusive

(c) mild (d)  proud

It was late in the evening. So I decided to quit the practice session
(a)  leavebehind (b)  start

(¢c) apply (d)  stop

In my absence, my mother looks after my children

(a)  takecareof (b) plays

(c)  behaves friendly (d)  noneofthe above

Sahar’s computer is very old. She wants to get rid of it.

(a)  repair (b)  remove
(c) make (d)  change
The clothes are clean now. They have been washed.

(a)  dirty (b) clear

(c)  freefromdirt (d)  proper
When do you propose to hold the next meeting ?

(a)  charge (b)  suggest
(c) try (d)  organize
Be careful lest you should bruise your knee against the wall.
(a)  injure (b) it

(c)  strike (d) apply
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10.

11.

12.

13.

14.

15.

Andrews takes great care in completion of his duties. He is a diligent
person.

(a) intelligent (b)  understanding
(c) hard working & sincere (d) lazyandinsincere

She does not know much of mathematics. I think she is incapable of
solving this problem.

(a) able (b)  expert

(c) creative (d)  unable

A man who is fragile can easily be disturbed by others.

(a) delicate and sensitive (b)  unknown

(c) intelligent (d)  foolish & non-sense
Don’ trelax until you have finished your work completely.

(a) becareful (b)  beattentive

(c) rest (d)  energies

The manager was reluctant to grant my application but he finally
agreed.

(a) willing (b)  unwilling
(c) demanding (d)  demoralizing

Don’t be apprehensive about your future. God supports the hard
working men.

(a) unconcerned (b) attentive

(c) fearful (d)  positive

Itis cold outside but the atmosphere is cosy inside.

(a) uncomfortable

(b) comfortable

(c) humid

(d) disturbing

The administrator was not sure of everything. He said there was
something fishy

(a) doubtful (b)  quiet
(c) fashionable (d)  destructive
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16.

17.

18.

19.

20.

21.

22.

23.

The behaviour of the principal was amicable. Everyone felt
comfortable.

(a) friendly (b) talkative

(c) rude (d) critical

All the students were given verbal instructions in the morning
assembly

(a) clear (b)  grammatical

(c) oral (d)  Written

There has not been any significant change in our syllabus in the last
ten years.

(a) small (b)  Private

(c) important (d)  deliberate

A democratic government should not be harsh in its decisions. What
We need is a balanced attitude.

(a) great (b)  hard

(c) soft (d)  favourable
He climbed up a Stationary wagon

(a)  Shunting (b)  standing
(c) moving (d)  speeding
Mohit’s services were terminated on flimsy grounds
(a) Solid (b) New

(c¢) Shallow (d) Silly

He must visit the shrine every Sunday

(a)  Hospital (b)  garden
(c) temple (d) shop

The hundgry dog fell to eating with voracity

(@)  humble (b)  greediness
(c) speed (d)  eagerness
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EXERCISE - 13

IDIOMATIC EXPRESSIONS
(IDIOMS/ PHRASES)

The young boy was the apple of everyone ’s eye in the family
(a) intelligent (b) likedapples
(c) creative (d)  verydear

The principal of the school is all in all in taking financial &
administrative decisions.

(a) mostpowerful (b) efficient
(c) unable (d) perfect

The matter of property is_a bone of contention between the two
brothers.

(a) amatter ofagreement (b)  amatter of disagreement
(c) causeof friendship (d) causeoflove

Henry is working round the clock in order to earn money.

(a)  working continuously for hours
(b)  Working intelligently

(c)  workingtorepairthe clock

(d)  working to reach his office intime

Nothing is verbal in the records, the court wants everything in black

and white.
'(@) inwritten form (b)  inthelibrary
(c) doneindetails (d)  corrected

In order to get success, the boss has left no stone unturned.

(a) Wenttothe mountains’

(b)  Wenttothe seashore

(c) triedevery possible course of action
(d) didnottry anything

It was almost impossible to drive, as it was raining cats and dogs.
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10.

11.

12.

13.

14.

(a) raining for cats (b)  thedogs were running

(c) rainingheavily (d)  driving fast

He wanted to give up smoking as the doctor has advised him not to
smoke.

(a) begin (b)  discontinue

(c) startafresh (d)  continue for some time

5th of August 1947 is a red-letter day in our country as we got
freedom from foreigners on this day.

(a) amemorable day (b) adangerousday
(c) anunimportantday (d) aday on which letters are
written

We should not look down upon the poor, they are also human beings.

(a) tolookinaninteresting way (b)  tolookrespectfully
(c) toagreewith (d) to look in an
insulting way

Good values and great ideas are going to stay for good. They will
never die.

(a) never (b)  forever
(c) forabriefperiod (d)  notforasingle moment

The strike was called off and the pilots returned to work.
(a) needed (b) initiated
(c) cancelled (d) invited

The flag was lowered down when the Prime Minister of the country

passed away
(a) crossedthe way (b) died

(c) gaveaspeech (d)  salutedtheflag

You can not even imagine my miserable condition, only the wearer
knows where the shoe pinches.

(a) onlyIknow the truth

(b) wearenotsure of anything

(c)  onlythe sufferer knows the real situation
(d)  only God knows the truth
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15.

16.

17.

18.

19.

20.

Whenever Akbar, the Great needed Birbal’s advice, he sent for him.
(a) ordered himtocome (b)  sentaletter

(c) sentagift for Birbal (d)  invited Birbal to dinner
Before entering a place of worship, kindly take off your shoes.

(a) clear (b)  repair

(c) wear (d) remove

To avoid penalty we should abide by the rules.

(a) follow (b) avoid

(c) make (d) deny

The government gave a bail out package to save it from losses.
(a) rescue fromadifficulty (b)  current

(c) unnecessary (d) demanding

Football does not interest me, it is not my cup of tea.
(a) veryeasy (b)  doesnotsuit my taste
(c) Idon’tliketea (d)  Iliketea Very much

I have tried to do my best, in case of an emergency [ will fall back on
you.

(a) fireyou (b)  turntoyou forhelp
(c) punishyou (d)  appreciate you
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EXERCISE - 14

Choose the correct option to establish the relation between idiom / phrase
and its meaning.

21.

22.

23.

24.

25.

26.

27.

The singer having a slight cough was not in voice at the concert.

(a) unabletosing well (b) singwell
(c) unable to speak (d)  hoarse voice

There are no fixed rules in my religion.

(a)  heartand soul (b) Hallmark
(c) Blackand white (d)  hardand fast
The business has ended in a complete loss.

(a) Deadloss (b) Deadheat
(c) Doubledealing (d) Deafnut

There was a great uproar in the land when the entertainment tax was
levied.

(a) anironhand (b)  hueandcry

(c) holeand lorner (d) handandglove
The scheme appears worthless at the first sight.

(a)  Attheeleventh hour (b) atalowebb

(c) atthe firstblush (d) ataloss

There is a good deal of agitation in all the civilsed countries for the
abolition of capital punishment.

(a)  light punishment (b)  punishmentin the capital
(c) punishment by death (d)  hard punishment
Russiais speeding up her military strength very rapidly.

(a) bystor (b)  byleapsandbounds

(c) Dbyfitsand stairs (d) byfar
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28.

29.

30.

31.

21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.

The police are investigating in to the matter.

(a) seeoff (b) seeinto

(c) seeforth (d)  seethrough
we have aksed Shailesh to speak for us at the committee
(a) represent (b)  speaklouder
(c) follow (d) replace

Ritesh has ultimately decided to take the bull by horns.
(a) todecideto face the problem

(b)  todecidetoavoid the problem

(c) toploughthe fields

(d) totakethebullto cart

Harish suffered an attack of influenza last month but now he is in the

pink ofhealth.
(a)  deterioration (b)  tobecomeangry
(c) tobeortofeel veryhealthy (d) tocelebrate

Exercise - 14
Solutions

(a)  unableto sing well

(d)  hardand fast

(a) Deadloss

(b)  hueandcry

(c)  atthefirstblush

(c)  punishmentby death

(b)  byleapsandbounds

(b)  seeinto

(a)  represent

(a)  todecideto face the problem
(c) tobeorto feel very healthy
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EXERCISE - 15

Antonyms

The water in this well is pure.
(a) unpure (b)  underpure
(c) overpure (d) impure

The child was found fit for the class

(a) refit (b)  underfit
(c) misfit (d)  unfit

We were lucky to win the match.

(a) luckless (b)  unlucky
(¢) dislucky (d)  nonlucky
The smoke from the gas factory is quite harm less.
(a) harmful (b)  harmed
(c) unharmful (d)  disharmful
All living beings on earth are immortal.

(a) postmortal (b)  mortal

(c) amortal (d)  mortality

The miscreants did their best to destroy the shrine. The police stopped
them in time.

(a) protect (b)  deny

(c) sully (d) origin
Exercise - 15
Solutions

1. (d)

2. (d)

3. (b)

4. (a)

5. (b)

6. (a)
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XI

EXERCISE - 16

ANAGRAMS
Solve the enigmatic anagram by rearranging the alphabets
1. TAEHITS
2 CIFLTTRATITAO
3 ORRETMS
4 . EELAS
5 PPLLAA

Find the synonyms in Anagram no. 3
The earth felt the aftershocks
Find the synonyms of underlined words in Anagram no. 2

The true teacher helps, promotes and aids learning

Find the synonyms of underlined words in anagram no. 5

The sight of the beast evoked hatred and disgust in the heart of the
villagers

Find the synonyms of the underlined word in anagram no. 4

the painter was learning on his_tripod to give the best touch of his
genius to create something extraordinary.

Find the synonyms of underlined word in anagram no. 1

The man rejected the existence of GOD in any form and stopped
worshipping and believing in him.

Exercise -16

Solutions
TREMORS 4. EASEL
FACILITATOR 5. ATHEIST

APPALL
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PRACTICE PARAGRAPH

Complete the passage by selecting the most suitable word / phrase from
each list to fill the corresponding gap.

We find (1) people who take any medicine (i1) cure their
(111) (ailments). Almost everybody takes this or that medicine. But
if we practice yoga regularly it will help in maintaining good health. There
are uncountable uses of yoga. Yoga helps in keeping our blood pressure at
(iv) level.

1.  Which ofthese fit gap (i)

(a) many

(b) few

(c) smart

(d) severe

2. Which ofthese fit gap (ii)

(a) for

(b) by

(c) to

(d) about

3. Which ofthese is alternative to (iii)
(a) diseases
(b) problem
(c) habits
(d) effects

4. Which ofthese of the following fits gap (iv)

(a) low
(b) correct
(c) high
(d) minimum
Answer Key
I. (a) many 3.  (a) diseases
2. (¢) to 4. (b) correct
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SECTION-B
QUALITATIVE REASONING

DIRECTIONS
A Man or a vehicle changes direction after covering some given distance.
Direction is changed many times. You are asked to determine in which direction
from the starting point a man or whichiis.
Example
A boy rode his bicycle northwards, then turned left and rode one km again turned
left and rode two kms. He found himself exactly one km west of his starting
point? How far did he ride northwards initially?

Solution:-
Starting Point is A. the boy rode from A to B, then to C and finally upto D. Since D
lies to the west of A and So the distance AB =CD=2 kms.

N
C < B
v | W<+) E
Answer : -2 kms. D +—A S

EXERCISE
Q.1.  Shilpi walks 6 km towards south her house. Then she turns right and walk
6 km, then she again turns to right and walks 2 km, then again turns to her
right and walks for another 2 km, then she takes a turn to her left and walks
7 km. How far is she from her house?

a) SkmNW  b) SkmNE ¢) 3kmNW d) 3kmNE
Toredt weh foig (3199 *R) 6 fop. Hi. <faqor 1 3R I €, TR TR IR g8 IR 6

fop. Y. =t ®, TR < oIk g o 2 T, fRe < ok g 2ferdt. st g
T & | TR g o 3R g ot 7 Rl o1 gt o il € 1 e 319 SR A Feme

et T |
(31)5 for.d . NW (9)5 . 1. NE
(®)3 fom.d5. NW (3)3fw. . NE

Q.2.  Igo 5 km East then turn right and go 8 kms. Then I turn left and go 5 kms
and then I turn leftand go 8 kms. At what distance am I from starting point.

a) 16km b) Okm ¢) 13km  d) 10km
# 5 for.oft. gd &1 T a1 § R SR T 43 o 8 TR S § | R | =g

TE S § 31K 5 Toh. . =retan § | R & o X gean § 9k 8 fop ot S € 1
Rfves fog A fRai g g ?

(M) 16fwmd.  (3) ofw. . (9) 13w () 10 fh..
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Q.3.

Q.4.

Q.5.

Q.6.

A watch reads 5.30. If the minute hand points east, in which direction will
the hour hand point :

a) NE b) NW c) SE d) SW

Tk ¥l H 5.30 T HHF | A e GE IRal it IR =erdt § o 5 &t g2 g
feenH a1

() NE ()NW (9)SE (SW

One morning after sun rise Rishel was standing facing a pole. The shadow
ofthe pole fell exactly to his right, which direction was he facing?

a) North b) South c) East d) West

T UTa:, AR & a5, TR U e’ T 3R HE e @e1 7 | Uie’ &l Sl
IS IR AT W 8 | T gefrafeen#®

(37) I (S)farm (T (3)ufy=m

A man is facing North-East, he turns 90“in clockwise direction and then
135%in the anticlockwise direction. Which direction is he facing now?

a) North-East b) South-East  ¢) North d) South

T AR ST S H JE e TSI 7 | 98 TS ol s ol 711d o1 fawn H 90°
et & fR =<t ot g2 o6t 7ifd 6 faradia feen 9 135° qear ¥ 1 o1@ o fong feom
1 SR HE L TS E 7

() SW-Ta  (NZI-TWa  (H)IW (3)zfequ

If East is called North-West, South is called North-East, what will North
be called?
a) South West b) East c) West d) South-East

I XS 1 STR-TTT=HHE ¢, TF&T01 oh1 ST 1 ST Bl RN gl ?
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Q.7.

Q.8.

Q.9.

(37) Siequ-ufy=m

()
(|)ufy=m

(2)fero-ga

A man is performing yoga with his head down legs up his face is towards
the EAST. In which direction will his left hand be-

a) East b) West

c¢) South d) North

T AR AT foRa T @1 ¥, SHeRT FaR At 3R TR SRt 7R 7, 39eh 8 @

1 AL A TR 1 &1 ford SR ?
(1) (&) ufe=m (|)taqo (3)FMW

Four people stationed at the four corners of a square piece as shown in
figure. B starts Crossing the field diagonally. After walking half the
distance, he turns to right, walks Some distance and turns left. Which

direction is B facing now?
A B

W&——I——*E
S
C D
(a) North East (b)North West  (c)South East (d) South West
T IR BId & ThHS o dRI il R 4 STEH @S 7, Sra1 <t fost # femmn
¥ B Ed ! foat IR hTd T § 23R 311l 8 79 i & 918 98 T 31K S STl

T AR HF R I & 9IE 98 9 3R TS Sl § | B &1 319 fhy fawm &t &R
(@) 81
() IW-qE  (A)IW-T=A  (F) - (F)Z&0-qi¥=H

At 6.30 am morning Richa started walking positioning her back towards
sun. After some time she turned left, then turned right and again towards
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Q.10.

left. In which direction is she going now?

a) East b) West

c¢) South d) North

TTd: 6.30 o151 = T 3R 113 hi¥eh T I[& ! § | 7S 9T d1E 98 a8 3R]
TS St &, FohT o8 Teet 318 371 fRt 8 7R g S § | o7a 3¢ fohdt faen & =1t
W@E?

(31) & (=) ufe=m (J)zferm ()W

Two buses start moving from opposite points on a main road, 100km apart.
The first bus X' runs for 25 kms and takes a right turn and then runs for 15
kms. It turns then to left and again runs for 15kms. It then turns left and

takes the direction back to reach the main road. In the mean time other
bus "Y' has run only for 20 kms along the main road. What would be the
distance between the two buses at this point?
a) 30km b) 35km
c) 40km d) 45km
T o8 T HF g W 100 FF.H. F gl R @t E IR faudia faen # =erd €1

TRl 99 X' 25 fohorle Terdt § 3T T 31k Yeaht 15 fofotflo 1 g q0 A B,
RY 9T SR gg s 15Tshorlo T g T Hicl! © 3R YA T & fore =edt St
T T T o A WSk W 20 oo o Tt ST il oh o=l g3 =T |
(31) 30 TRl (@)35Tehotile  (W)40 TeRorlo ()45 feroHo

Answer KEY:
.No. Answer Q.No. Answer
2.
4,
6.
8.
10

A RS e o)
aOaa» >
O9» WO
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Q.1.

Q.2.

Q.3.

Q.4.

BLOOD RELATION
SET-1

'A'is the son of 'M' whose father is the brother of B. B, is the son of 'E', who
isadoctor. How is'M'related to E.

a) Uncle b) Brother ¢) Son d) Brother-in-law
‘AT M'FTe R, o frar B & YE € B,E 1930 E, S Th St s'M ‘B’
Y fFa TR @ |

(1) SThd (F) e (J)s= (Z)sfrsm

A woman 'A' tells her granddaughter 'C' about her only child 'B'. 'B' is
married to 'D'and 'D' has son 'E' who is two years old. how is 'C' related to
|El

a) Aunt b) Cousin c) Brother  d) Sister

T SRA A" ST et C R Fardt R B 3Tkt STl Ga B 1B
foae ‘D' AgMBTAN'E' HTE S g dwaad2ad w151 'C'/E' 4 fwg
TR He T T |

(31) it (== (@) ()

Looking at a photograph my son cried for her that she was the only sister of
my maternal uncle. How am I related to her?

a) Mother b) Cousin c) self d) Sister

Teh Tors1 ol <@ T T oI U T AIcl-a8 B J1H1 i STehell g of | § 389
fRe TR Hafa g |

(37) A (De=iaed (W)@ ()&

A family has a man, his wife, their four sons and their wives. the family of

every son also has 3 sons and 1 daughter. Find out the total no. of male
members in the whole family.

a) 8 b) 12 ¢) 17 d) 23
T URAR § T ARH ¢ 3TehT 31Rd §, 30h =R 9L IR 37eh! uferall § 1 g
% TRAR § T oI 31X Tah 91 § | TRER T el &1 i 981 T |
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Q.5.

Q.6.

Q.7.

Q.38.

(1) 8 ()12 ()17 (2)23

Pointing to a man, a woman said : "? His mother is the only daughter of my
mother." How is the woman related to the man?

a) Mother b) Daughter c) Sister d) Grand daughter

T STCH! i 3@ FX Teh 31X 7 a1 fob SHen! o 7 1 1 Tehed! 91 T 139
3T 1 3 STEH! § Heie 71T |

(37) T (&) 9t (W)= (%) et/

Rajan is the brother of Sachin and Manik is the father of Rajan, Jagat is the
brother of Priya and Priya is the daughter of Sachin. Who is the Uncle of
Jagat?

a) Rajan b) Sachin ¢) Manik d) Can'tSay
o, T o1 Wi  Wfes T o1 foar ®, S foen 61 g € SR i afem =)
I Y | ST R TFARAT |

(1) TS GIEIEE! (@mifss (3)Fe T Fehd

Aand B are brothers. C and D are sisters. A's sonis D's brother. How is B
related to C?

a) Father

b) Brother

c¢) Grandfather

d) Uncle

ASRB9EE,C ARD FE1 81 A HT 92 D H 9E 71 B, C ¥ fFE g
Gafed T |

(1) faan (F) e (F)TERYA (T)Tha

Aisthe sonofBand C is the sister of B

If:(i) A+BMeansA isthe father of B
(i1)A-B Means A is the wife of B
(111)AXB means A is the brother of B
(iv)A+B means A is the Daughter of B
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If A-C+B, which of the following statement is true?
a) Aisthe motherof B b) Bisthe daughter of A
c) AistheauntofB d) Aisthesisterof B
A, BRI ARC,BHI&A?

afg : (i) A+BHFudaa e for w1 faar s fm A B w1frare
(i) A-BHF A STH A,BHITHE
(i) AxBHIAq@E SR A,BHIMER
(iv) A+BaHIATAACh A, BHIIIT

g, A-C+BEA A HIFASIF

(3)A, B &I A1

(9B, AHT I &
(F)A, B &1 3t 8
(3)A, B i =&
Answer Key:
Q.No. Answer Q.No. Answer
1. C 2. D
3 A 4 C
5. A 6. A
7 D 8 A
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Q.1:

Q.2:

Q.3:

Q4.

BLOOD RELATION TEST
SET - 11

There are six children playing volley ball namely, A, B, C, D, E and F. A
and E are sisters. F is the brother of E. C is the only daughter of A's aunty.
B and D are the sons of the sister of C's mother. How is C related to F?

a) Daughter b) Sister c) Aunt d) Cousin
A,B,C,D,E 3R F S o= aTefecl DA W E | ASIRE ae §IF,EHR IS
C, A == & Sheldl 9t ¥ 1 B 3R D, C =1 A1 &1 dfgd & I3 § | TEHER
CHEIAAFN T ?

(37) st (F)FHA (|)=r=t () == 9

A woman pointing to a photograph says-This man's son's sister is my
mother-in-law. How is the woman's husband related to the man in the

photograph?
a) Grandson b) Son
c) Sonin Law d) Nephew

T HAfgell 7 Tk wem (Fos) it 3Tk 39 3d gU e, ' 59 Al hi a8
T 9@ g1 RS § fewm sfed 1 3T qfgen & ufd ¥ = dey 7 2

(31) gaai ()Y (F)TME () TSI

Harbir while introducing Jaspreet to her husband said-His brother's father
is the only son of my grandfather. How is Harbir related to Jaspreet?

a) Aunt b) sister c) niece d) Mother

TR A 379 °fd & STHTd 1 TR=r hd g el o 38k 18 o foa TR ersh

% Sehelld I3 & | TSR ohT STAUT 9 I Gee § 2

(1) =m=i (S)eH (F)wdrstt (I)Hm

A woman introduces a man as the son of the brother of her mother. How is
the man related to her?
a) Son b) Uncle ¢) Cousin d) Grandson

T TR 3 Teh STEH! &1 IR 70 W & 918 & I3 & &9 o H Hiam |
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Q.5:

Q.6:

Q.7:

e HIAfeA A RN HAY S ?

(30) g (s)mm (AT E ()T
A is the father of C and D is the son of B. E is the brother of A, if C is the
sister of D, how is Brelated to E.

a) Daughter

b) Brotherin Law

¢) Husband

d) sisterinLaw

'AL'C'H T SAR'D' 'B' FIYATIE,AS TE 1 3WRC,DHI TeA sl B
3R E 1 3199 H R Taier § 2

(30) &t ()31 (@)dfd (%) fr=sit
Read the statements below: -

(1) Misthebrother of N

(i1) B is the brother of N, and

(111)M 1s the brother of D

Which of the following statements is definitely true?

a) Nisthebrother of B

b) NisthebrotherofD

c) Misthebrother of B

d) DisthemotherofM
w9 aH 3 e s r d wd

(3)N,BHI9ET
()N, D H WE T
()M, BHRIMET
(3)D,M FITE T

Rati is the daughter of my brother's son. If my brother has only one sibling.
How is Ratirelated to my brother's wife.
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Q.8:

Q.9:

a) Niece b) Daughter
¢) Granddaughter d) Sisterinlaw

AR 7S & 9 T 921§ | SR WTE I Shael Teh T TS/ & 11 T I
TS 1 IcT B R Ha g § ?

(31) seitsit

() =

(&)t

() wedt

CisA's father'snephew. D isa's cousin but not the brother of C. How is D
related to C.

a) Father b) Sister c) Mother d) Aunt

C,A fad 1 ST 8 1 D, A ST Haitlt ¥R C 1 9E 781 € | D 31X C fhd 7R
Hafud g |

(31) faan (s)Fe (|) (F)ge

Pointing towards a girl in the picture, Sarita said, "She is the mother of
Meha whose father is my son". How is Sarita related to girl in Picture?

a) MotherinLaw b) Aunt

c) Cousin d) Sister

T A Tk WIS i 3T, SO i gU el I8 Het o 1 ¢ forerent faan &
e’ | T iR fomr 1 feamE T et H R e | ?

(31) w™ (3| (M)==fi a8 (3)ee
Answer Key:

Q.No. Answer Q.No. Answer
1. D 2. D

3 B 4. C

5. D 6. C

7. C 8 B

9 A
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Ranking Test

Ranking is based on the arrangement of things in a particular order. The
arrangement may be on the basis of their position, age etc.

POSITION SERIESTEST :

In this series, questions are asked about the positions of persons from up or
down, or from left or right etc. Some important types are:-

a) In a line girl Advaita's position from left is 10th while Trishala's
position from right is 16th. When they interchange their position
Advaita's position becomes 20th from left then what will be the
position of Advaita from the right:-

A 10" (ADVAITA). 16" (TRISHALA).B
4» 4—
AFTER INTERCHANGE
th th
20 16
10 girls + Advaita TRISHALA+ 15 girls

Since, Advaita's new position after interchange is 20th from the left:
Therefore total no. of girls in the

Line=20+15=35

Hence, Trishala's position from the right = (35-10) = 26th.
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Q.1:

Q.2:

Q.3:

RAINKING

Five girls participated in an education competitions:-
1. Pratibharanked higher than Sarita

2. Saritaranked higher than Ritika

3. Pratibharanked lower than Gurpreet

4

. Kavitaranked between Pratibha and Sarita

Who ranked the highest?
a) Kavita b)Pratibha c) Gurpreet d) Ritika
Oia iRl A Tk e weielt ufenfiren & s feran-

1. a1 S sHie TRaT T AR 7
2. i 1 af e wHien fifaem 9 sifier B

3. gfa«r 1 AR s A I HAT|

4. Shfrdl 1 afdl M Ffadr SR GRar S =g

AR o MR R for g o1 aftard 9 Tod aifue §
3 ) shfadr o) g ) YT T) Rfqar

In a group of six students, Niyin is heavier than Mahesh but lighter than
Nandu. Ketan is lighter than Mahesh but he is not as lighter as Ramesh. If
Nandu is lighter than Amit, then who is the lightest?

a) Mahesh b) Ketan

c) Ramesh d) Nandu

BE B & e H, T 7891 § 9l & T g U Teh1 § | Shad Rl YR A9
FHH ¥ TG I8 T S Soshl TR | 3R g 31Hd | et © 0 9ol i 9R
[ERCak¥

(31) 7w () e (| ()3

In a row of plants, a plant is 16th from either end of the row. How many
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Q.4:

Q.5:

Q.6:

trees are there in the Row?

a) 32 b) 30 ¢) 31 d) 16

Uil ol HART T Teh GIeT 16 TIH W E FR & SHl % § I W = o
frqdigig?

(37) 32 (#)30 ()31 ()16

Inarow of boys, Deepak is 7th from left and Madhur is 12tth from right. If

they interchange their positions, Deepak becomes 22nd from the left. How
many boys are there in the row?

a) 19 b) 31 ¢) 33 d) 18

TSI i Teh Tferd T ST 9T TR H 7 T W T IR AL ST 3R F 12 TH W
¥ | 3R I STUAT T S5l of dl ek ST 3R 9 22 T W ¥ | 39 Ufer | forem
EERE

(31) 19 (9)31 (9)33 (2)18

Inaclass of 36 students the rank of Ramesh is 18th from top. What will be
his rank from bottom?

a) 19 b) 17 o) 18 d) 20
36 BT 1 Sk ell H TR I J ST i 18 T | T hT SH hHish hefl
% 1 TR T SHERT HHTTER T =11 T 2

(31)19 (s)17 (9)18 (2)20

Shruti and Preeti are ranked 7th and 11th respectively in a class of 31
students. What will be their respective ranks from bottom of class?

a) 20"and24'h b) 21thand 25"

¢) 21%and 26" d) 26"and 20"

fa IR Wifq 31 fomnfefi i ueh Fan § A Grde 31K TREs TH W E | Ha
& 71 TR & 37 HUTAR T 8 2

(31) 2061 R 24 & (F)21 9f 37 25 =

(|)25 4 317 26 aif ()26 9F AR 20 9T
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Q.7:

Q.8:

There are five friends — Satish, Kishore, Mohan, Amita and Ravi, Satish
is shorter than Kishore but taller Ravi, Mohan is the tallest. Amit is a little
shorter than Kishore and little taller than Satish. Who is taller than Amit
but shorter than Mohan?

a) Amit b) Kishore c¢) Satish d) Ravi

Toter, foreiR, Tree, 21fia SR e ot first | e arwens 8 foheik @ 2rer fag
T Qo | e Tord ol § | 31 fereit & orer Sier iR wder 9 orer
TS | ShiF SATHA T T Tk Hig A BT ?

(37) sfa () feiR (J) g ()4

Shailendra is shorter than Keshav but taller than Rakesh. Madhav is the
tallest. Ashish is a little shorter than Keshav and a little taller than
Shailendra. If they stand in the order of their height, who will be in the
middle?

a) Keshav b)Rakesh c¢) Shailendra d) Ashish

TETE | St hora W B ¥ foheg ThIT T vl € | HIEE el T § | 3T
H9 B2 § SR diog A oven § | AfE 3 oT9 ST hE 9 @S 8, d o |
HF TR ?

(1) e ()T (D= (7)Y
Answer Key:

Q.No. Answer Q.No. Answer

1 C 2. C

3 C 4 C

5 A 6 B

7 B 8 D
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Q.1:

Q.2:

DICE TYPE TEST

Observe the dots on the faces of a dice in the figures given below and find
how many dots are on the opposite faces which have four dots.

a) 2 b)3 )5 d) 6

On the basis of figures of dice find what is the number opposite to the
number _6'onthe Face?

ANSWER KEY :
Q. No. Answer
1. A
2. A
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Q.1:

Q.2:

Q.3:

SYLLOGISM
EXAMPLE

Statements: I Some Politicians are social workers.

II All doctors are social workers

Conclusion: I Some doctors are politicians

IT Some social workers are doctors as well as politicians

a) BothconclusionIandII follow

b) OnlyIfollow

c) Onlyll follow

d) Neither conclusion I norII follows

Statements: I Some Chairs are tables
IT Sometablesare T.V.

Conclusion: I SomechairsareT.V.
IT Some TV are chairs
[ITAll the TV are Table
IV All the tables are chairs

a) OnlyliandIV follows

b) OnlylandIV follows

c) OnlyIV

d) Noneofthese

Statements: I All the phones are papers
IT All the papers are calculators.

Conclusion: I All the calculators are papers
IT All the phones are calculators
IITAll the papers are phones
IVSome calculators are phones

a) All follows

b) OnlylandII follows

c) OnlyITandIV follows
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Q.4:

d) Noneofthese

Statements: I Allmen are vertebrates
IT Some Mammals are vertebrates.
Conclusion: I Allmenare mammals
II Some vertebrates are mammals
[T All vertebrates are men
IV All mammals are men
a) only Il follows
b) OnlyIV follow
c) OnlyIandIII follows
d) None ofthese

EDE]
1. B SHIT ATHTISTeR hTehd ¢ |

2. Foft ST A Hriehdi ¢ |

Freads

1) B SERASHIAAS |

I1) QIS HTdehdl Slae o T - W1 SHitas o § |
a) HEAqAMIFHT

b) HAAIIH T

c) HAAITFHTI

d) HaAaM I F T2

HAA
1. HSHAAASE
2. HBAS AT
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et

1. HS HEA A T
2. FHD A AT

3. goft Al A9 ®
4. |t o pfdar ¥
(37) HaA2 A4 IF T
() Hae 194 3F T
(A)FTA4H T
(%) A g T
A

1. A ERIRE

2. R TR FHAHANE
St

1. @ff heThoreR TR ¥
2. W BE T

3. g TR ®H %

4. FD HARAN BE §
(37) T i §
(F)Hae 192 AF
(|)Haa 2 qAAM4IH 7
(%)% AT T
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wHA

1. Gt AT FIEHT S
2. HSEAUR] HIEHI T
St

1. AR T WEER ©
2. EHD HIEH TWHAAR T
3. Gl HIER! T WAERT §
4. | WU B §
(37) shoe frsns 2 i ©
() hae feht 4 Sk 7
(W) fehel 1 qen2 Sk 7
(R)THAFE T

ANSWER KEY :
Q. No. Answer
1. D

el

D
C
A
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PASSAGE BASED MCQ

Directions:-

A, B, C, D, E, F, and G seven kids playing in the garden. They are wearing a
clothes of colours-black, blue, white, green pink, yellow and brown. Out of the
seven, three are girls. No girl is wearing either black, yellow or brown. D'ssister F
is wearing pink while he is wearing brown. A is wearing blue, while his sister B is
not wearing green. E is wearing yellow, while his best friend G is a boy.

Q.1:  Whatcolouris B wearing?

a) Green b)Pink c) Brown d) None ofthese
Q.2:  Whatcolouris G wearing?

a) Black b) Blue c) White d) Green
Q.3:  Whatcolouris C wearing?

a) Black b) Green c) White d) None ofthese
Q.4:  Whatcolourare the sister of Aand D wearing?

a) Pink & Green b) Pink & Yellow

¢) White & Pink d) White & Pink
Q.5:  Which group is denoting only Girls?

a) BCE b) BEF c) BCF d) None of these
Q.6:  Which group is denoting only boys?

a) ADEF b) ADEG c) ADBG d) None of these
Hint:- STEP - 1

Draw the table from the given passage

KIDS COLOUR OF CLOTHES SEX

A BLUE BOY

B WHITE GIRL

C GREEN GIRL

D BROWN BOY

E YELLOW BOY

F PINK GIRL

G BLACK BOY
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(3TT=)

TEATIT WX IETRA U

A,B,C,D,E,F 3R G Hd 9=d Teh s H TA R© & | SR T, et T, &,
TerTelt, et SR R T & IS TeH gU T | 3 91 H § 1 Asfondi T 1 & o
TR TR T S T I T GO D o e F Y e b
T TUE Sk D 7 X T o IS TeH gL T A 7 ict, Safeh S BAR T &
FHUS &1 U8 E A el T1'ah STelfeh ST SR G ASHIT |

BABM AT IS TGAEUT ?

(3) & (&) Tersit (TR (3)57H | 8 &l
G ¥ % Y T1 % HIS T8 LT ?

(1) e ()t (WFFE (D
CAFHA TS FHIS T gUL?

(1) =hre ()& (@FRE ()T A HE T
A 3R D &l & 7 HF F T HIS T84 gL 8 2

(1) Tersit 3R B

(@)t SR e

(F)Hhe 3R 71

(2)The AR YT

S 1 HYE  had ASiHA S 7 |

(31) BCE (¥)BEF (¥)BCF (3)3TH | *E T
HIF T I Hhad A T & |

(1) ADEF  (9)ADEG (B)ABDG  (T)3TH 9 &IE =&l
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Hint:-
A § T 7T SR & STTHR TR0l SR

EE) T (FT3) fetm
A e ASHT
B g gt
C B AShT
D qa [GELa|
E et [GEED
F et AR
G Tl ASH

SW:1. (D) 2. (A) 3. (B) 4. (D)
5. (0) 6. (B)
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PASSAGE
1

There are five persons A, B, C, D and E. One of them is a doctor, one is an engineer
another one is an executive. C and E are unmarried ladies and do not work. None
of the ladies in engineer or doctor. There is a married couple in which D is the
husband. B is neither an engineer nor an executive and is amale friend of A.

Q.1:  Whoisthe Doctor?

a) A b)D c)B d) C
Q.2:  Whoisthe executive?

a) B b) A c) D d) C
Q.3:  Whoisthewife of D?

a) C b) A ¢)D d) E
Q.4:  Whoisthe Engineer?

a) D b) A c)B d) C
Q.5:  Thethreeladies are:

a) AABandE b)C,DandB <¢) BAandCd) A,CandE
Q.6:  Which is the married couple?

a) AD b) BD c) CD d) DE
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PASSAGE
1

A, B, C, D, E U9 {5 € | Tk S1aeR, Teh IR, Teh ShIhTion € 31K C 3iR
E stfaanfed afgard € TR sritd €1 € | 12 ot Afec i a1 sfafer i € |
0 U foanfed sirer & 5@ D ufd €1 B 7 € sSIf2R ® 1R 9 & shrferifion §

ARA T TEISE |
TRIFHMAT?
(1) A (¥)B (|9)D
RTINS & ?
(1) B (A (7)D
D ! Tcil s & 2
(1) C (A (9)E
SFSFRR i § 2
() D (A (9)B
o afeed §:
(31) A, BE (¥)C, DB, (9)BAC
foenfed srer &2
(31) AD ()BD (")CD
ANSWER KEY :
PASSAGE-I
Q. No. Answer
1. C
2. B
3. B
4, A
5. D
6. A
127

()C

(2)C

(3)B

(2)C

(7)C

(2)DE
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PASSAGE
II

Some words are given in Column I. These word are written in a code language in
column II. The code equivalents of the words given in column I and II are not
necessarily in the corresponding order. Choose the correct code for the words
from the given alternatives.

S.No.| COLUMNI | COLUMN II
1. podnajoc very bright boy
2. tan nu pod the boy comes
3. nu per ton keep the doll

4. joctonsu very good dooll
5. sapod ton dollis boy

Q.1:  Which word will be code for word doll?

a) Ton b) na c) joc d) per
Q.2:  Which word will be the code for word keep?

a) Joc b) per ¢) pod d) tan
Q.3:  Which word will be code for Boy?

a) Nu b) sa ¢) pod d) tan
Q.4:  Which word will be code for word bright?

a) Pod b) tan c) nu d) na
Q.5:  Which word will be the code word 'the'?

a) Nu b) tan c) per d) sa
Q.6:  Which word will be the code for word 'very'?

a) Pod b) joc c) na d) sa
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PASSAGE
1l
STt 1 3R i [1H T 9o # @ € 1 37 1 Ao § i [ H e 7o iR
HieH 11 § 3T T 5o T €1 e W 1w ot fou 3w |
e

wH HE&AT Eacty i 11
1. qre 1 S g BN Tgeht
2. LIRSS I AShT AT
3. T WA g Tfean el
. T A Y gd TS e
5 1 9re 21 Tfean AEH T

“rifean’ TS HE M HFAE ?

(31) 2F (I (F)<h W

‘T’ o o e v § AR & fore = fomen e g 2

EHEEIED (W (J)dre (7))

‘TTgsh ' T IS HE WO H 1 § 2

(31) 1 (=) & (W)U ()

1 |1 31 FHZ o H DRER & e Wi fhe mn e ?

(31) dre () (MT ©EIED

‘o’ & e s T § e v ¥ 2
(30) 1 (&) (F)W ()@
‘o’ & forT e aron H R el 2
(1) 98 (3 (@) ()™
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ANSWER KEY :

PASSAGE -II
Q. No. Answer
1. a
2. b
3. c
4. d
S. a
6. b

PASSAGE - RELATION PUZZLE

In a family A is the son of B. C who is a sister of B has a son D and a daughter E.F is
the maternal uncle of D but he is unmarried and has only one sister. Answer the
queries about their relationship.

Q.1 HowisArelated to D?
a) Cousin b) Nephew c¢) Uncle d) Brother
Q.2  How is E related to F?

a) Sister b) Daughter c) Niece d) Mother
Q.3  How many nephews does F have?
a) l b) 2 c)3 d) None
Q.4 How is D related to B?
a) Nephew b) Brother ¢) Cousin d) Brother in law
Q.5 How many nephews does B have?
a) 1 b) 2 c)3 d) None
Q.6  How is B related to D?
a) Uncle b) Aunt c) Father d) No-relation
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THIRERHAABHF IR CNfHE BRI T8, I TH A D T IR A E T IED &I
1§ et o sifaenfed & oI SHeh! shael Teh €1 a8 § | S7eh Haiell § Telferd 991 o
IS |
1) ADUfFEYRRHEfuas?

a) == b) ST c) kel d) «g
2) E,F 9 frg gorr Gaifea e ?

a) sT&d b) st c) wISht d) =
3)  F 3 Sl IR il ol el 9 ?
a)1 b)2 ©)3 d) =Tg Tl
4) D,B 4 fFa yeR Gafta e ?
a) SIS b) wrE ¢) == d) sfs
5) B & TSIl o1 &A1 ?
a) 1 b)2 )3 d) =1g Tl
6) B,D ¥ fohe Yok Haf¥d ?
a) ATl b) 3T ¢) for d) FE Ty &
ANSWERKEY :
Q. No. Answer
1 a
2 c
3 b
4. a
5 a
6 a
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PASSAGE - (Venn Diagram Puzzle)

There is a sample of young people in a colony. Some of them are employed. Some
of them come from rural background. Some of them are hardworking and some
are intelligent.

Below given is Venn Diagram, where the circle stands for employed, the square
for hardworking, the triangle stands for rural and the rectangle stands for
intelligent people study the figure carefully and answer the question following.

Q.1

Q.2

Q.3

Q.4

Q.5

12

How many people with rural background are employed but they are
neither hard working nor intelligent ?

a) 10 b)9 c)6 d)4

How many people with rural background are hard working and
intelligent ?

a)3 b) 4 c)5 d)7

How many people with rural background are not intelligent but
hardworking and also not employed ?

a)l b) 2 c)3 d)4

How many people with rural background are neither intelligent nor
hardworking and also not employed

a) 2 b) 4 )5S d)9

How many people with rural background are neither employed nor
intelligent
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a)2 b) 8 c)4 d)5

Q.6 How many of them are not from rural background but intelligent and
employed but they are not hard working ?

a)8 b)9 c) 1 d) 17

ANSWER KEY :
1(O)
2(B)
3 (B)
4(C)
5(B)
6 (A)

Teh T B @ aTel Aistari # <@ T fh e i %19 %3 §, f59H 9 g g ¥
ey ¢, wP Ry ¢, /S e |

1 U 3 3@ 1 7eg 9 U IeH1 & IS o 3@ H d Shiaikd @il o, a9 aiRsr
S Rt et Tife @ Geiferd saferaa o i g |

@

11

1) TS Haf fohda safe wrRa €, dfea ag T @ ol € iR I @ gfgum 2
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a) 10 b)9 c)6 d)4

2)  Tia A Fafd fha aRsmdt SR gfgam E 2

a)3 b)4 c)5 d)7
3) g HeEtd fha safe gfgum dr g e afkerd @i € 2

a)il b)2 c)3 d) 4
4)  Ta R gieyfh A 7 qfgAE, T IR SR A g A © ?

a)?2 b) 4 c)5 d)o
5)  Tita et gftayfi arel fhae <l = seia € iR T @ gfgum ?

a)?2 b)8 c)4 d)s
6) fora =afer Tifa st giteyf & =2 € Aifer If g § sarfere sria @ € e

TR TS ?

a)8 b)9 c)1 d)17
ANSWERKEY:

1(C)

2(B)

3(B)

4(C)

5(B)

6(A)
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1)

2)
3)
4)

1)

2)

3)

4)

Information Based Questions

Long before the advent of science, man was grouping in darkness help
leanly trying in his own primitive way to understand the nature around
him attitude to nature. His and fabe nation have now been unmasked. It
has bestowed on him perceptive enough to unreveal mysteries of nature to
his benefit. he is no more dumb driven cattle at the behest of nature.

Which of the following can be conclusion drawn on the basic of this
paragraph?
Science has provided man values that can help him work for the benifit
of mankind.

Man's insight has become more perceptive due to advancement in science.
Science has made man a dumb animal who requires help at every step.

Man is groping in darkness because of the lack of program in science.

ATl UX 3T uys

o & 3TH 9 U8, 9% 94 =R 1R &1 Uepfd o1 STHR™-H sTaeen § 319+
ST & TRk W WHSH i, YRR H Wh i IR H &1 o1 | foqm 7 ymfa &
T SHeh GIeaRIU i ShIfdehR &9 {2 § | 3Heh! IR 7R 33 foram o1d sTgere
Tl T | 38 TR & T 1 ST TS o foll IR hieh 38 SATI0 &9 fear g |
8 YR & GRI &leh ST ATl Teh T STeR 113 21 § |
ST ST e & SR R F=fefed § 9 o o frssh g fehren ST asharg |

o 3 #ea 1 U e UeH foRT & S 38 AT st MelTs | Wkl UeH e

THAT

oA o Fagfte famm = foar & sifuss T A R |

oM 3 A% 1 T T T[T SR o o § 99 R FeH W e &
ATTHAL |

T fom H il R h il o HRO STER H ek @I |
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1)
2)
3)
4)

1)
2)
3)

4)

1)
2)
3)
4)

Five people L,M,N,O and P sit in a row, not necessarily in the same order. P
sits exactly in between M and O, then which of the following must be true if L
sits inbetween M and O :-

O sits to the immediate right of M
Land N always sittogether
M sits exactly at the center of the row

Psitsbetween M and L

T &S LM, N,0 3IRP T Ul H I3 T | T8 T T8l ¢ fh I qaH A § &1 |
P,M 3R N & =i s s €1 4fe LM 3R O & == sire &1 ot fafefafea § 9
HAHFIASF T

O, M & facha T SR BT |
L 3R N gHN $hg S3A ¢ |
M Tfe o foeRa A S g |
PM 3R L S A SSA B |

Country X grows 5% of the world's tea and 3% of the world coffee. It can be
concluded from this that the country's soil and temperature condition are
better sailed to production of tea than coffee :-.

Which of the following would contribute to the conclusion arrived at ?
Global tea production is 1 times that of coffee production.
More tea is exported by the country than coffee.
The country does not export less coffee than tea.

Tea and coffee are the only plantation crops grown in the country.

Y X HER T < HT 5% 3T HIB! T 3% IAE FH 2 | T8 Feht fHehret T fo
3T <91 1 THET IR AU HIE! o S 91 & e & o 2iferss 3uge g1
frefafed § 9 oq 91 a2 39 fowt o Terd A7 Tefud g ?
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1)
2)
3)

4)

1)
2)

3)
4)

1)
2)

3)

THR T <1 1 SUIGH ShTHT & TG H 1 9T e T |
QU BRI I 1 eTdaq = Frarfd stferes dare |
YT T STYET R I H T TE B |

S H hore =1 SR ] I HHA IS S ¢ |

Our brain are designed to reflect and catch the state of the person we are with,
which works to are advantage in most situations by helping us understand
each other be then. How ever, constant interaction with people who are
anxious, steered or traumatised floods the brain with negative emotions and
activates stern centres inn the brain.

Which of the following cases would be an appropriable example for evidence
of'the above finding?

Ateacher attempting to teach philosophy to students of photography

A door to door sales man barbered with the responsibility of doubling his
sales ever the figure of the previous years.

A Surgeon who conducts open heart surgeries.

Anurse engaged in post -precative case of amputees.

1 - T THEH T eIl U Hieh e uRfeefqai § oy ugam =1 &
FA T | AR S, TeH q91 THEgEd Al 9 TR Fush Afaash | ThRIcHS
a3t 3T ATel T S AT R |

fr=fafea o 9 o ardes s feu freed o1 Sfed Sermr S gl g |
Teh 27Tk TSR o farenell o1 giH St Ue ! ShIfSRT Shiar & |

TR-FR Y ATl HedHA feset 91e o HehTect SO STHEH! sl ST i &t
[ HNCCIE R ECIES

Tk 3T Tafeohcden o1 TSt S S99 81e IS el 2 |
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4)

1)

2)

3)

4)

1)

3)

Tk 7191 ST BT T e A h SR & IS SHR I SEHA H M & |

The ministry of agriculture estimate that within the next five years, India will
be short of 20 million tonnes wheat, nice and pulses- our main source of
carbohydrates and protein. The forward march of India into the industrial
age is making its presence felt in a slightly uncomfortable manner- a shortly
ofthis most procaine grain.

Which of the following could point to a ray of hope in a an otherwise block
scenario ?

Stagnant domestic production and increasing consumption seem to have
aided India self sufficiency in wheat.

If our import swell, the world no longer has the land and resources left to
cater this extra demand without a house wise in costs.

The issue is no longer hunger and starvation - the concise is wise food
prius and the effect that this could have on political stability.

A new type of seed or a country becoming surplus in grains production is
always a possibility just the sugar shock in the 70's saw the emergence of
Brazil.

Y TATTT & S & STTHR 3T ATt A Frell o 378X 9Rd H 20 fhferem =7
T, 9r9a 9 <l w FH I S fE FEiEee 9 W % e @[ ¢
SICIRMRRY T 3TR 9RA i AUHa HR-R R FI HAN: 37 HgaUl G
SCITGl ot STgTAeTSTeh I i IR T @IT |

T H W I W1 H YA e STAEAT 5 o= ST 1 FohTor & &9 H STT-

BT 30U 1 T ST TG g8 STed W i 11g H ST & JTel Rl ToTd
fag il

TR THRT ST aedl T al F9R H SI1G1 o TH T ST a2l 377 9id 39
ST SUCTSH U ok AR T <Rl o1 ST gy g7 =1 s ard |

TSR Y@ AR YErd o1 T&i - &7 9oy e weri & s d SHl SR 36y
TrHifeh feeran & genfaa SR w1 |
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4)

Teh 3 Yeh R oh SISl 91 Teh 1 H STIST ohl STTaiier Scare SHYN Teh GHIEHT & 519
o 70 & T TR | =1 A1 HHT H TSI 1 35T |

In a town, the number of people diagnosed as suffering from a certain disease
in the have joints, long believed to be essentially due to the consumption of
contaminated water, has decreased significantly this year as compared to last
year. According to health officials, this is due to improved sanitary conditions
and filtration methods at water treatment plants.

Which of the following if true, would seriously weaken the officials
contention ?

The drop in number of cares diagnosed was reflected among those who are
refuter users of only UV treated bustled water.

Among those who were diagnosed to have the disease, the severity was
has pronounced this year as compared to last year.

Several new water treatment plants have been setup by private companies
this year.

Recent research has pointed to food adulterants as the primary cause for
the disease.

e |, 9Igd 9§ I gefedi @ Sirel 9 Hafyd Teh TS fomRT 9 difed ame g,
Foreh IR H |1 A T foh e Tie i e I o STcfeh TR & SR s, ffvem
w1 ¥ 9% TUsel 9e & ol 39 91d A 81 7T § | e S & TR,
A R TRt &f 3fea saasen a9n qt sl | A o aieh] & SRl gal,
TR Seren ur Qfigenor G gRI T TE |

Frreafafed 8 ¥ A-91, 9fc 9 8, et i Hgfte sl TeiRarges aam ?
3T 39 YR & AN H 9gd ¥ T 9T T S Sideraie qHt & i €9 3
IUAFHATE |
ST AR 78 7T 394 9§ TR €9 9 SHRI i §E1 =l 916 i o1 § 59
T A TR TS |
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39 91e S S uft gR siga & T ur S7fegahon S Tenfyd fehu T |

T 1 H g8 @ISl - 59 3R Fehd fohan § foh SIART o1 Wefheh vl @H-4M &t
e g1

Mr. Adventurous was moving abort in a jungle, when he was caught by the
cannibals and was taken to their king. The king said "I will give you a chance
to make a statement. If it is true, you will be burned at the stable. If it is false
you'll be boiled in oil"

The statement which can save him is
(a) Iwillbeboiled at the stake

(b) Twillnotbeboiledin oil

(c) I'willbeboiledinoil

1) Only(a)
2) Only(b)
3) Either(a)or(b)
4) Only(c)

ST ATEE ST ST § W 1@ 9 11 o 98] R S TS T TS o I o S
T | TS A aT- H TR Tk I Hgd 1 TR S | IS I8 I T gl 01 I
St ot TR et e S | 91 9% ST g il gFe. dal | el 1Ga1 ST |

I T H I Sk L& T Fehdl 2-

a) Hafd o wWee fean s
b) I H T ST S |

¢) T I H ST S |
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1) HIA®I (a)
2) &Haased (b)

3) YA (a) AYATHYA (b)

4) HIAHYT (¢)

ANSWERKEY (Information based Passage)

Q. No. Answer

N ||| R P
Al a &&= |w|N
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All the option below could be grouped together. which one of them could be used
as a title for the entire group ?

Frefafed foeredi ol Toh g H 1@ S 9ehdl § | 570 4 fohd R TE & T & ®q

~

TR TRt ST Tkl § 2

1- 1) Diode (1) =@e
2) Transistor (2) afe=x
3) Logic gates (3) SR g™
4) Electronic Devices (4) SAHLINTR 7
2. 1) Linux (1) =g
2) MSDos (2) THTHESM
3) operating System (3) sqfenfegen
4) Unix (4) i
3. 1) Reptiles (1) wlgd
2) Crocodiles (2) AR
3) Lizards (3) foumet
4) Snakes (4) 99
4. 1) Dollar (1) TR
2) Currency (2) 3%
3) Yen (3)
4) Lira (4) =
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)
2)
3)

4)

1))
2)
3)

4)

1y
2)
3)

4)

1)
2)
3)

4)

(D)
(©

Nichrome
Bronze
Alloy

Brass

Plants
microorganism
animal

living organism

Natural
Integer
Real Number

Rational numbers

Genre
Drama
Novel

Poems

2.
6.

(M
(2)
(3)
(4)

(M
(2)
(3)
(4)

(M
(2)
(3)
(4)

(M
(2)
(3)
(4)

qulish
LI CEReE I
s Tt

foremi
eh

S

e

ANSWER KEY

(C) 3,
(D) 7.
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(A) 4,
(C) 8.

(B)
(A)
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(1)

Analogy Test

The dictionary meaning of the word 'Analogy' is 'resemblance in certain
ways'. In this type of questions the candidate are to discover likeness between the
first two words, group of alphabets, figures or numbers. Bearing this resemblance
in mind you are to pick one word or group of alphabets or figures which bears the
same resemblance with the third word, group of alphabets or figures.

Word Analogies-
Hot: Cold:: Agitated ?

The analogy between the first and second word is that the second in the
antonym of the first. Bearing this relation in mind, clam bears the same relation
with agitated.

There could be different type of relationship :

---- Synonym Relationship
---- Antonym Relationship
---- Degree of Difference

---- Cause and effect
---- Whole and part

---- Function composition-
action

---- Sequential
Number Analogy:
4:27::9?

(a) 12

(c) 32

Explanation:-2*: 3%: 3%:?
So correct answer is (b).

)

3:26::7:124
(a) 15
(c) 17

Explanation:- 2°-1 : 3 -1:: 2 : 5°-1
so, the answer should be 4°-1 = 16-1 =15
Hence, correct answer is 15

e.g.
e.g.
e.g.

e.g.
e.g.
e.g.

e.g.

(b)
(d)

(b)
(d)

144

Thin: Shim::
Thin:  Portly::
Frequently:
shoot:  Kill::
Fender: Tire::
Axe: Wood:
Eight:  Nine::
64

16

13

24

Stout:  Strong
Slim:  Stout

Always:: Seldom:
Never

Insult: Humiliate
Elevator: Aileron
Scissor: Fabric

2% 32
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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

ANALOGY TEST

Laughter : Smile :: Hot : ?

a)Cold b) Summer ¢) Warm

1) BEAT : RIS 2T 2

(%) 3 (@) et (1) T

Planet : Sun :: Moon : ?

a) Satellite b) Universe ¢) Mars

2) U8 gl s EGHT ¢ ?

(%h) 3UUE (@) sraEre (7)) =T

Axe : Wood .2 Scissors : ?

a)Knife b) Blade c) Fabric

3) RISl : AHET 1 A ;2

(%) =R, (@) =18 (77) =TT

Eight : Nine 2017

a)9 b) 3 )2’

The Taj : Agra :: Lion:?

a) Animals b) Zoo c) Tiger

5) AHE : 3R R C

() S (@) fafeamr (1) s

CAT : DDY 2 BIG:?

a) CLL b) CLM ¢) CML
145

d) Temperature

(=) a9

d) Earth

(&) gesft

d) Nail.

(%) &

d) 8

d) Lioness

(&) oA

d) CEP
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Q.7 AG:I0O:EK:?
a)LR b) MS

Q8 8:27::125:?
a) 625 b) 380

Q9 234:24::12345:7?
a) 123456 b) 120

Q10 O:Q:=E:?

a)F b) G
Analogy
Answer Key :
Q. No. Answer
1. C
2. D
3. C
4. B
5. B
6. A
7. B
8. D
9. D
10. B

c) PV

c) 375

¢) 123645

c)H
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d) SY

d) 343

d) 1245

d1
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ANALOGY (NON-VERBAL)

Analogy is the process of reasoning between two parallel cases. It related to
agreement or correspondence in certain respects between two things. It is a
process whereby the underlying relationship that exists between two figures,
designs or patterns is determined. Under common to the two figure or designs.
This common feature is a model or base. The question seeks solution or the basis
of this model or base.

Each of the following questions consists of two sets of figures. Figures A, B, C and
D constitute the Problem Set while figures 1, 2, 3, 4 and 5 constitute the Answer
Set. There is a definite relationship between figure A and B Establish a similar
relationship between figures C and D by selecting a suitable figure from the
Answer Set that would replace the question mark (?) in fig. (D).

Q.1 Select a suitable figure from the Answer Figures that would replace the

question mark (?).
Problem figures :-
M E is To 3 as /> ?
Answer Figures :-
(a) (b) (c) (d)
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Q.2 Select a suitable figure from the Answer Figures that would replace the
question mark (?).
Problem Figures Answer Figures
bo|‘ale | 7] ALK S
Al B.
C. 3 D.4
E. 5
Ans) A
Q.3 Select a suitable figure from the Answer Figure that would replace the
question mark (?).
Problem Figures:
TIA N | S
A B C D 1 2 3 4 5
A)BO)MDd)  HERG)HEG)
Al B.2
C. 3 D.4
E. 5
Ans. A
Q.4 Problem Figures/ 9% 3Tehfd
3 9
V} [ ]
A B C D
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Answer Figures/ St 3T fd

X

Q.5 Problem Figures/ 9% &R

A

B

[ J ) [ J
A B
Answer Figures / 3T 3T {d
A B

Ans5)D
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C D
e o ‘?
C D
Cr | 2
C D
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COMPLETE THE SERIES

Choose the correct alternative from the given ones that will complete the series:-

Q.2

Q3

Q4

Q.5

Q.6

Q.7

Q.8

feu e fashedt # 9 et fashed T 2 Soft B qu i -

2,5,9,19,37,

a)73 b) 74 €)75
1,4,9,16,25,

2)35 b)36 c)48
4,9, 49,121

a) 16 b)25 €)36

8,  ,125,343,12321

a) 12 b)27 c)64
ZXY,OMN, TRS,

a)K1J b) BAC c)WVU

ABD,CDF,  GHI

a) EFG b) CDE ¢)EFH
1,6,13,22,33

a)44 b)45 €)46
2,7,2267, 607

2)202 b)203 ¢)204

150

d)75

d)49

d)18

d)16

d)DEG

d) DEG

d)47

d)205
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Q.9 Problem Figures / 99 &ATehfd

A\

0>

Answer Figures/ 3t &A1

[SN@)

(a)

Answer Key :

Answer

()
XN R | Z
)

WO | |(®|=E|O
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(d)

PSA CLASS XI



SYMBOL REPRESENTATION

This sections deals with question on simple mathematical operation namely +, x, +
& - along with others namely <, =, >, # etc. These operations are coded using

artificial symbols. The candidate has to make substitution of real signs and then by
using DMAS formula, solve the question.

Example 1.

If + mean +, — means X, ~ means + and x means -, then the value of
36x12+4+6+2°

When simplified is :-

a)2 b) 18 c)42 d) 19/2
Solution -

Using proper signs :-

36-12+4+6+2x3

=36-3+3x3

=36-3+9

=42

So the correct answer is (c)
Example 2.

If P denotes +, Q denotes x, R denotes +, S denotes -, then the value of

18Q12P4R5S6, will be ---

a)36 b)53 ¢)59 d) 65

using correct symbols, we have :-

Given expression = 18x12+4+5-6
= 18x3+5-6
= 54+5-6
=53

So the answer is (b)
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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

SYMBOL RELATIONSHIP

Select the correct combination of mathematical signs to replace *sign to
balance the given equation.

T TTE FHTHTT 1 Fferd i qei * Fai ohl wfaeeta i & fore fvrde fawi
EIRHERE LRy

24%3%Q*12%3

(a)x+=x (b) x=x+ (c)x=+x (d) +x=x
15%5%3%25

@)=x (b)x == ©+x=  (@x=+
18*3*1*26*28

(a)+x=+ (b)+ ++= (c) X+ =— (d)yx+=+
I1*11*11*1331

(a) Xx=X (b) xxx= (c) x=xx  (d)xx+=
23*3*7*16*3

(a)x+1-= (b)+x= (c)+ —=+ (d) ++=+

In question below, equations have become wrong due to wrong order of
signs. Choose the correct order of signs from the alternative given.

= few o Tt et w5 aa o T S, S R e § a wd e &
TR HIGS |

9=3%7-20

() x—= (b) =x= (c) =+—  (d) x=—
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Q.7 56x6+3=29-2

(a) tx=X (b)++=x (c) x++ = (d)=x++
Q.8 8-2x7=I1

(a)=x~ (b)=+- (¢)+ +=  (d)=-x
Q.9 24+2+3-6=30

(a) = +=- (b)x +— = (¢) +H+-= (d)+x=+
Q.10 5x6+3-12=13-6

(@+++=+ (b)) x=+-= (¢) x++=— (d)++-=-

If + means —, — means X, X means + and + means +, then -----

g 4+ E L IR, AR R T e
Q.11 15x5+10+5-3=?

(a)9.5 (b)0 ©-2 (d)24

Q.12 15x3+10+5-3="
(a) 10 (b)0 (©)20 (d)6

Q.13 30+6+2—1="?
(a) 34 (b)35 (c)36 (d)37

Q.14 36x2+8+8=2
(a) 16 (b) 17 ()18 (d) 19

Q.15 If A denotes =, +denotes >, - denotes <, ‘T1° denotes # , X denotes > and +

denotes <thena+b—c denotes :-

AR AT S FARE, SR L F, DR K > R
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Q.16

Q.17

Q.18

Q.19

S RIS AS a+b+-c T HAfFI TR

(a)bAca (b)b Oa+c (c)axbxc (d) b-a

If "x" stands for add, "Y' stands for subtract, 'Z, stands for divide and P
stands for multiply, then whatis the value of (7 P3) Y6X5

FfE'X 7 YT, 2 AP X § 9 (7 P3) Y6XS i 3fud HH e HE
FE?

(a)5 (b) 10 (c)25 (d)20

If A stands for Addition, S stands for Subtraction, M stands for
Multiplication, D stands for Division, G for Greater Than and L for Less
than, Then which of the following alternatives will be logically correct.

ASTHI RIS, S T T, M IO T, D 91T, 'G' *>' &I, 'L''<' &It

A) 16A3M2G16A2M3
B) 16A3BM2L16A2M3
C) 16 M3A2L16A2M3
D) 16 M3A2G16A2M3

A) OM3S7L22
B) OM3L7S22
C) 9S3G7M22
D) 9S3G7A22

A) 56D6S3G29M2
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Q.20

(1
4
(7
(10)
(13)
(16)
(19)

B) 56 S6M3L29A2
C) 56 A6D3L29S2
D) 56A6D3G29S2

A) 8D2S7G 11
B) 8A2M7L11
C) 8A2M7G 11
D) 8D2M7L11

® o o o

o o

)
)
®)
(11)
(14)
(17)
(20)

ANSWER KEY

a
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3)
(6)
9
(12)
(15)
(18)

o o a0 A

o
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